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QUESTION 1

Refer to the following code: 

 

 

 

CLick me 

 

 

function displayMessage(ev) { 

ev.stopPropagation(); 

console.log(`Inner message.\\'); 

} 

const elem = document.getElementById(`myButton\\'); 

elem.addEventListener(`click\\' , displayMessage); 

 

 

What will the console show when the button is clicked? 

A. Outer message 

B. Outer message Inner message 

C. Inner message Outer message 

D. Inner message 

Correct Answer: D 

 

QUESTION 2
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Given the HTML below: 

Which statement adds the priority-account css class to the Applied Shipping row? 

A. document.querySelector(\\'#row-as\\').classList.add(\\'priority-account\\'); 

B. PlaceHolder 

C. PlaceHolder 

D. PlaceHolder 

Correct Answer: A 

 

QUESTION 3

The developer has a function that prints "Hello" to an input name.To test this, thedeveloper created a
function that returns "World". However the following snippet does not print " Hello World". 

What can the developer do to change the code to print "Hello World" ? 
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A. Change line 7 to ) () ; 

B. Change line 2 to console.log(`Hello\\' , name() ); 

C. Change line 9 to sayHello(world) (); 

D. Change line 5 to function world ( ) { 

Correct Answer: B 

 

QUESTION 4

Referto the code below: Const pi = 3.1415326, What is the data type of pi? 

A. Double 

B. Number 

C. Decimal 

D. Float 

Correct Answer: B 

 

QUESTION 5

A developer creates a class that represents a blog post based on the requirement that a Post should
have a body author and view count. 

The Code shown Below: 

ClassPost { 

// Insert code here 

This.body =body 

This.author = author; 

this.viewCount = viewCount; 

} 

} 
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Which statement should be inserted in the placeholder on line 02 to allow for a variable to be set to a
new instanceof a Post with the three attributes correctly populated? 

A. super (body, author, viewCount) { 

B. Function Post (body, author, viewCount) { 

C. constructor (body, author, viewCount) { 

D. constructor() { 

Correct Answer: C 
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